Feuille1

EXERCICE N° 1 — REPONSES

Votre 2éme
Donne Pique Coeur Carreau Trefle H |Vulnérable| Ouverture DL HDL enchére
1 6 3 1 3 14 N 1P 4 18 3P
2 4 4 5 0 13 0] 1K 6 19 3K
3 1 1 5 6 16 N 1T 9 25 5T
4 4 5 2 2 17 0] 1C 2 19 3C
5 2 3 4 4 12 N 1K 3 15 Passe
6 3 2 1 7 13 0] 1T 8 21 4T
7 3 7 2 1 12 N 1C 6 18 3C
8 4 2 4 3 14 0 1K 3 17 Passe
9 5 5 2 1 12 N 1P 4 16 3P
10 4 4 3 2 13 o 1K 1 14 Passe
11 8 2 1 2 12 N 1P 8 20 4P
12 5 2 4 2 17 0] 1P 2 19 3P
13 4 2 2 5 14 N 1T 5 19 3T
14 5 2 1 5 17 0] 1P 4 21 4P
15 2 6 3 2 11 N 1C 4 15 Passe
16 5 6 1 1 12 0] 1C 7 19 4C
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